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(1) Part ‘A’ may be attempted in first 6 pages
of Answer Sheet.
grr T @ G oY, Tuv-gika@l @ FUT &
gl A & v B
(2) Part ‘B’ in rest of the Sheets of Answer
Sheet. A
GIT & TR, FOv—YleasT & o 4 §oI 4
feif&ry / |
_Q ) Answer may be given in English or Hindi.
a2 ge @ gV il eryar B § o)

Part ‘A’

HET ‘@
1 Attempt any 10 questions of the
following : 10x2=20

fdl 9 wet @ sax AR -
(i) Write the common difference of the AP
whose nthtermisa —6n—1.

n

T& Hodlo &1 ndf 95 a_— 61— 1 &, Ao T &R

ST Wiy | .
G-1510 _ . ®.T.0)
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(i) Find the nth term of the progression

w -1
4’ M
first n terms.

I
%Mv_. . T U—» |Nu hsen
41 D 4

worq n U &1 AT STa DI |

. _ 3
(i) If sin A = 3 where 0 < A < 90°, find the

, L =2, ... and write its SUNIOL

Cve. T nAf U G

value of sin 2A.
3
m5>n..w S/l 0 <A <90° 8, sin 2A &1 HIF
Sd BT |

(iv) Find a vector of magnitude 4 units which is

parallel to the vector /31 +j~k
aRw 34—k @ TR a4 g A B
afeer @ Fra BT |
(v) Find the eccentricity of the ellipse
ox? + 16y? = 144
Aeiga 9x2 + 16y = 144 @ Sehwall ST DI |
(vi) Find the values ofx,y and z it
2 30 10 By ] skl 5 0

= e ==l
4 2| jr =2 | Ll S

A. 3) 3K4-MAM-02

o 5 i e o
i g e B b e

# X,y T z P T B |
(vii) Find the position vector of a point which

divides the join of the points umlwm and

wml Nw internally in the ratio 2 : 3.

2a—3b T 3a—2b Fwgel B Sire aweh ¥
P 2 : 3 AU 3 ATARS ©Y ¥ TR HE
faeg o1 Reify wfew @@ BT .
(viii) Find the equation of the line through the
points (1, -1) and (3, 5).
(1,-1) T (3, mvw_ﬂ%ﬂﬂ_&igﬁ
TR T BT |
(ix) Determine ‘a’ so that the line passing mﬁocm:
(3,4) and (a, 5) makes 135° mﬁmﬁ with ﬁoe_ued
direction of x-axis.
@3, hvmﬁmw&ﬁﬂ}igx-@m%mﬂg .
¥ 135° @ 0T o) &, A ‘2’ B AN I B |
(x) Find a point on x-axis which is equidistant
from the points (-1, 3) and (2, 5)
(1, 3) @A (2, 5) | A QW T X-T R
Reret faeg @ s B | gl

i
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(xi) Find the equation of the circle drawn on the
intercept made by the line 3x + 2y = 6
between the coordinate axes as diameter.
Y 3x + 2y =6 ¥ fcwe Gl @ dra o &
P UTE bR 9 I P FHIBR S BIfSTT |

k 0 i)
(xii) IfA= fitsy muawn ) 1 then find k
for which A*=B.
k 0 Fvi0
A= 1 bl TEEB S sy qem A?=B g,
ar k @1 9 B |
l+x 6

(xiii) For what value of x the matrix L

is singular ?
1+x 6

i RITeR &, @ X &7 941 A

Afger
3 ?

(xiv) Find the focus, equation of directrix and

length of the latus rectum of the parabola

y? = 8x.
TRaerg y2 = 8x P A, e B v, AT

& T DY ST B |

2

(5) 3K4-MAM-02
Attempt any 5 questions from the
following : . 5x4=20
fri ufa get @ SR AR :
(i) If cosec 6 + cot 6 = p, find the values of
sin © and cos 0.

cosec O +cot O =p @I sin O AT cos O B A
ST HINTT |

(i) Find the projection of the vector i —2j+k
on the vector 4i — &.+ 7
|fw 41 —4j+ 7k waR® {-2]+k o7 wEw
ST I |

(iii) Find the term independent of x in the

1
expansion of Txu 7 mxwu

4

H .
Txfmxluw $ TR A X g Ug B WA
BIRTY |
(iv) Find the sum of n terms of the series :
0L TeeO7 T Q2T T v iaessns

sony MOV 07T + .. @ n USt Bl
Q0T ST BT |
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x}—4x* +2x +2
x’—5x+6

(v) Resolve ‘into partial

fractions.

X AX H2XTD s mey o

2 —Sx+6

DI |

(vi) Show that :
b+c e4+a a+b g b
Q2! TR p+q|(=2|p q r
Ve Z 7 TN Xy E
g P
b+c c+a a+b a b ¢
q+r r+p p+q|=2|p q I
Y+Z ZEX XAV XA

(vi)) Find the equation of the line passing through
a point (2, 3) such that the segment of the

line intercepted between the axes, is bisected
at this point.

(2, 3) & S arel Y@ o7 sl & 9 BT AT g
fg W ffm @ o Y@ B wiew s
BIfSTY |

(viil)

3 (a)

(b)

(7) 3K4-MAM-02
If p is the length of the perpendicular from

x_
the origin to the line " & ;W =1, then prove
15t sl

o fag oifog b -
IR e |
RS
Part ‘B’
A9 g
Attempt any 3 questions of the
following : 20%3=60

e ¥ @ 5 i gl @ Sax e

Find the image of the point (-8, 12) in the
line mirror 4x + 7y + 13 =0

Yur wdvr dx + Ty + 13 =0 % fawg (-8, 12) &
ufefars grer @ | |

The digits of a positive integer having three
digits, are in A.P. and their sum is 15. The
number obtained by reversing the digits is
594 less than the original number. Find the

number. -
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& ool & o quifes & 3 waiaR SO # © e
[FHT ANT 15 & | 3Pl BT ¥ Soled | YT 3,

. UEdl 3P 9§ 594 HH T | §H UPKR gl 3AH W

4 (a)

(b)

P |
Show that the points A, B and C with

position vectors aoa. 4j— 4k

b=2{-j+k and c=i-3j-5k
respectively form the vertices of a right
m,mm_ma triangle.

@ﬂmﬂ@d@%ﬂgm w—iu_.-_ .AW

b=2i—j+k @ ¢ ={-3j—5k ¥ Fm Rgal
wae: A, B3 C ¥ (& wAaIT et qar T |
Find the equation of the hyperbola whose

directrix is 2x + y =1, focus is (1, 2) and

eccentricity is /3 .

 2x+y=1"fwmm (1,2) T w0 /3 S

5 (@

@ foRgerd BT FHIBROT FIT DN |

H.n a triangle ABC if cot A, cot B, cot C are
in A.P. then show that a2, b? c? are in A.P.
finpst ABC # cot A, cot B, cot C Hosio & gl
@lﬂm.%d 5 a2, b2, c? 4 Hodo H B

(9) . 3K4-MAM-02
Prove that ;
[T%a | 1
| FE |
1+ b HnmcoT+l+|+|_u
] i heilc
1 1 1+c
g o
U R | 1

__+c HumcoT+._.+w+$

1 1 1+c (e

6 (n) From the top of a building 60 metre high the

angles of depression of the top and bottom
of a tower are observed to be 30° and 60°.
Find the height of the tower.

80 Hlo $9 %a71 & N § v AR @ N 7 g

o s e B 30° 9 60° w_&ﬂ.,_%_ﬂm:m
BT g |
(b) Let f{(x)= x?— 5x + 6 then find f (A), if
. 1
e 1 s
l1 -1 0
B 0 ol
EEINESRRGm A= |2 1 3¢
1 -1 0

& £(A) ) w1 W9 | ;

¥
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7 (a)

(b)

Find the equation of the circle concentric with
the circle 2x* + 2y? + 8x + 10y — 39 = 0 and
having area equal to 167 square units.

o 2x% + 2y + 8k Howluwn_cuwﬁﬁmwﬂ&
I BT FHHIT S Doty fo=aet &=wd 167 ot
TP ©

Find the equation of the ellipse whose axes
are parallel to the coordinate axes having its
centre at (2, —3), focus at (3, —3) and one
vertex at Qr L3y

Préiwie sel @ Wik @ @ Qug @1 D=
(2, -3), T (3, -3) = v N (4, -3) ¥}
e P FHHIT ST DI |




